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Simplificar Expresiones (H)

Simplifique cada expresion.

6+ 1+u?+ 1+ 10u+u? 6. =5—u—1-3x+1+u?
1l—c+3c>—6c—c*—c 7. =Sy —yz+4+1+72+3
- 9p> —9v+v+b—b+by 8 2y—xy—1—9y? +x—x
. 9a—14+4a®>+10+c—c? 9. 1 —b—-3b+v+6bv+2bv

—a—2a*+3a>+7a— 10a* + 34 10. —a+9—82—8—av—S8a
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4. 9a—14+4a*>+10+c—c?

b

Simplificar Expresiones (H) Respuestas

6+ 14w+ 1+10u+u?
= 2u?+10u+8

1—c+3c2—6c—c*—c
—2c2—8c+1

92 —9v+v+b—b+by

= 9b* + bv—8v

=4a*> —c*+9a+c+9

= —64%+ 6a

—a—2a*+3a>+7a—10a*> + 34

6.

10.

Simplifique cada expresion.

—5—u—1-—3x+1+u?
=u—u—3x—5

L =Sy—yz+4+14+72+3

= —yz+72—5y+8

2y —xy—1—-9y? +x—x
= —xy—9y*+2y—1

1 —b—3b+v+6bv+2bv
=8bv—4b+v+1

—a+9—8v*—8—av—8a
— 8 —av—9a+1
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